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DIPLOMA IN WATERSHED MANAGEMENT 
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June, 2012 

BNRI-101 : FUNDAMENTALS OF WATERSHED 
MANAGEMENT 

Time : 2 hours 	 Maximum Marks : 50 

Note : Attempt any five questions. Use of calculator is 

permitted. 

1. (a) What do you mean by Watershed 2+2 

Management ? Explain the importance of 

watershed management programmes. 

(b) What do you understand by Malthusion 	2 
effect ? 

(c) Explain the term 'power' w.r.t. watershed. 	4 

2. 	(a) List the important points need to be 	5 

considered before a watershed is selected to 

study the impact of different interventions 

on the socio - economic conditions of the 

area. 

(b) What is the role of integrated watershed 2+3 

management 	for 	agricultural 

sustainability ? Show different watershed 

activities using a schematic diagram. 
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3. 	(a) What does institutional arrangement mean 	5 

for effective implementation of watershed 

projects ? Explain with the help of neat 

diagram. 

(b) What do you mean by GIS ? Describe how 
	

5 

is it important for watershed projects ? 

	

4. 	(a) What is a project implementation agency ? 2+3 

Describe its various functions. 

(b) List different guiding principles enshrined 	5 

in the common guidelines for watershed 

management in India ? 

	

5. 	(a) What are the major functions of SLNA in 	5 

operation of watershed management 

projects ? 

(b) What do you mean by social mobilization ? 	2 

(c) What are the major reasons for failure of 	3 

community organization ? 

	

6. 	(a) What are different qualities of an 

indicator ? 

(b) List different hydrological and water 

availability indicators. 

(c) Why convergence of other related 

programmes is important ? 
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7. 	(a) What do you understand by phase wise 	4 
development of watershed projects, write 
the duration of each phase ? 

(b) Explain the role of women in watershed 	3 
management. 

(c) Describe the use of IT in watershed 	3 
management. 

	

8. 	(a) Write full form of the following : 	10x1/2=5 
(i) NDC 
(ii) MIS 
(iii) LFA 
(iv) DDP 
(v) DP 
(vi) WDT 
(vii) DPC 
(viii) ZP 
(ix) WDF 
(x) NABARD 

(b) Write short note on any five of the 
following : 	 5x1=5 
(i) Tributary 
(ii) Evaluation 

(iii) Cadastral Map 
(iv) Shape factor 
(v) Economic efficiency indicator 
(vi) Stakeholder 
(vii) Benefit Cost Ratio 
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1. 	(a) 	Arik-11.1{ 514zi-i 	31Trf ITT TI11-2A f? 	(141̀17 2+2 

.1,140, 41 	TT qui-I --1F—A7 I 

(b) TITT4 3T17 ITT 7:111--*1 t ? 	 2 

(c) ,T1c1414{* TI-qt.T ' 	(power) lemq T clu 	4 

7I  

	

2. 	(a) 	4q - 11.114-11R,1*-34-rNk - tr-{ 379-rfta a 	9.M 	5 

3Tii: Aid 3WIRTi ‘3104947 

A -Err, rcb-i 	Pis34 	.wr9.  

31raFTT.  trai t? 	 

(b) 	 fq-U-Qtrra 	ro% 	chd ,11041-73-4q--i 2+3 

3.T.ITTT Wri t ? fafr .104117 ,Irdrafirzff 

W1:f 	 311 	ART 
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3. 	(a) 	ssic-14%4T 	 cnti 	 5 

*-2TrTra 	aT 	err 31-N-9-r-zr t? 

oir-co (4,1 	qclf -A quiff -11--47 I 

(b) 	ssi 	aTTTT 	iTri=r-F t ? A(14117 	5 

	

,tq A-113ti   qt14 -4=It—Trit? 

	

4. 	(a) 4 .“.1 	cniq -cm-t -744-  14-41 t? Tqk fqrqN 2+3 

-9*M *T 	*1f-A7 I 

(b) 	liTTff 	ztri(-iw 	Frl .H11-11-4 -r- IT-f9tff 	5 

6R,\--tfiAci Fa 	Flir 11-RITA ft:r-4-M 4)1 T& 

	

5. 	(a) 	' .T11.1.7 	 14. 	5 

(SLNA)r T4 err t ? 

(b) anti 40-41 TrgrFa ? 	2 

(c) 441d-1 chi  	TT 	i 	3 

-fd-r-U7 I 

	

6. 	(a) 	11 T[qT ct;1  	FcR 	NMI; err ? 	 3 

(b) rciRM 	 31:1—d-Wal -T4-4 cl.>1 Tt-- 	4 

49771 

(c) 3TTTf4Z ch149b4-1 3-15-M717 (convergence) 3 

cN-1.1:17-ffTuf t? 

BNRI-101 	 6 



7. 	(a) Acikiw11 •11-114*31-17-P-TT--dT{ f4T114 3-171 	4 

ITT 	? 74-* 	TT 31dig frig-R I 

(b) 	 Tiqi 14 Tri-6fffaff 	lifgE*7 	au`-I 	3 

(c) AQ-Riii-Ti;r4tri 4 34.r.t. 	wi)q f au 	I 	3 

10x1/2=5 

5x1=5 

(i)  

(ii)  

(iii)  
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(iv) tit1,11 (*Fr) cht(4) 

(v) allfft TEW:MT 1\14) 

(vi) 17'41111 T1.1:94T9.  (Stakeholder) 

(vii) 397Tff 
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